
[Chapter 2] 

 
Where’s the error? 

 
The doctor has written an order for 500 g of cephalexin to be given to a patient every 8 
hours.   Careless Carol has solved a proportion to determine how many milliliters of the 
suspension (refer to label) the patient needs to take.  Here is Carol’s work: 
 

5:250::500:? 
 
 

5 x ? = 250 x 500 
 
 

? = 250 x 500 
      5 

 
 

? = 25,000 
 

According to Carol’s calculations, the correct dose to give to the patient is 25,000.  She 
knows that this cannot be correct, but can’t figure out where she went wrong in her 
calculations.  Where is the error? 
 
 
 

 


